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QUESTION 1

SyncE clocking is provided at what OSI layer?
A. Layer 3

B. Layer 2 and 3

C. Layer 1

D. Layer 2

Correct Answer: C

QUESTION 2

Which three options can be considered a type of small cell (Choose three.)
A. Microcell

B. Femtocell

C. Micro

D. Pico

E. Picocell

F. Dendriticcell

Correct Answer: ABE

QUESTION 3

What does the neighbor send label command enable when issued on BGP routers?
A. Enables the routers to add IPv6 labels to outgoing BGP updates

B. Enables an EBGP multihop peer to propagate the next hop unchanged

C. Enables the routers to add MPLS labels to outgoing BGP updates

D. Allows peering between loopbacks

Correct Answer: C

QUESTION 4

Which two options configures an ASR920 router as a hybrid clock? (Choose two.)
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A. ptp clock boundary domain 0

B. ptp clock boundary domain 0 hybrid

C. ptp clock ordinary domain 0 hybrid

D. ptp clock ordinary domain 0

E. ptp clock

Correct Answer: BC

QUESTION 5

What are three purposes of partitioning the backhaul network into independent IGP domains? (Choose
three.)

A. to not enhance stability

B. to reduce the size of the routing and forwarding tables on individual routers

C. to ensure that reachability is not possible between domains

D. to not ensure stability

E. faster convergence

F. to enhance stability

Correct Answer: BEF

QUESTION 6

What can PTP be used to synchronize?
A. Time, frequency, phase
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B. Rate

C. Phase, time

D. Frequency
Correct Answer: A

QUESTION 7

What technology allows for the network to simulate actual wired connections for TDM or ATM
backhaul?

A. SONET

B. SynckE
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C. IPSEC

D. Pseudowire

Correct Answer: D
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